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wavelength λ /nm
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CIE10 spectral tristimulus values y−max(λ)=1
x−10,1(λ)=A11l

−
10,1(λ)+A12m

−
10,1(λ)+A13s

−
10,1(λ)

A1j 1,9101 −1,1121 0,2019 (λ~570)
D65: Σx−10,1(λ)=21,62

x10,1=0,3137 y10,1=0,3309



EE131−1A_1

wavelength λ /nm
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D50
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CIE10 spectral tristimulus values y−max(λ)=1
x−10,1(λ)=A11l

−
10,1(λ)+A12m

−
10,1(λ)+A13s

−
10,1(λ)

A1j 1,9101 −1,1121 0,2019 (λ~570)
D50: Σx−10,1(λ)=21,81

x10,1=0,3477 y10,1=0,3594



EE131−1A_1

wavelength λ /nm
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P40
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CIE10 spectral tristimulus values y−max(λ)=1
x−10,1(λ)=A11l

−
10,1(λ)+A12m

−
10,1(λ)+A13s

−
10,1(λ)

A1j 1,9101 −1,1121 0,2019 (λ~570)
P40: Σx−10,1(λ)=23,30

x10,1=0,3821 y10,1=0,3755



EE131−1A_1

wavelength λ /nm
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CIE10 spectral tristimulus values y−max(λ)=1
x−10,1(λ)=A11l

−
10,1(λ)+A12m

−
10,1(λ)+A13s

−
10,1(λ)

A1j 1,9101 −1,1121 0,2019 (λ~570)
A00: Σx−10,1(λ)=26,25

x10,1=0,4511 y10,1=0,4058



EE131−1A_1

wavelength λ /nm
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E00
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CIE10 spectral tristimulus values y−max(λ)=1
x−10,1(λ)=A11l

−
10,1(λ)+A12m

−
10,1(λ)+A13s

−
10,1(λ)

A1j 1,9101 −1,1121 0,2019 (λ~570)
E00: Σx−10,1(λ)=23,35

x10,1=0,3332 y10,1=0,3332



EE131−1A_1

wavelength λ /nm
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C00
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CIE10 spectral tristimulus values y−max(λ)=1
x−10,1(λ)=A11l

−
10,1(λ)+A12m

−
10,1(λ)+A13s

−
10,1(λ)

A1j 1,9101 −1,1121 0,2019 (λ~570)
C00: Σx−10,1(λ)=21,65

x10,1=0,3103 y10,1=0,3190



EE131−1A_1

wavelength λ /nm
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CIE10 spectral tristimulus values y−max(λ)=1
x−10,1(λ)=A11l

−
10,1(λ)+A12m

−
10,1(λ)+A13s

−
10,1(λ)

A1j 1,9101 −1,1121 0,2019 (λ~570)
P00: Σx−10,1(λ)=23,90

x10,1=0,3608 y10,1=0,3525



EE131−1A_1

wavelength λ /nm
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CIE10 spectral tristimulus values y−max(λ)=1
x−10,1(λ)=A11l

−
10,1(λ)+A12m

−
10,1(λ)+A13s

−
10,1(λ)

A1j 1,9101 −1,1121 0,2019 (λ~570)
Q00:Σx−10,1(λ)=23,14

x10,1=0,3065 y10,1=0,3115


